@C ok \Ou N AN

D Ve -

) \,\)m{ Sy W oy, S n= )

2N Dssome Vrode VYae segrince

\\AS Aage 5o o Sorihle. 3 of esims

Bssome W wonaes Se n=\

2) Pt Maodce Woooaddles Qe n=Whaa)

'\)m\»e_,“. \ Ay DXSx, X (2Zn-)) = Y\’L

S\?_D\ VL Ohoes W nodls At ¢ n=\

ey =\

(ZLTV=AT) = V&=

{ = |

S\‘LO?_.‘- Bssume. W YoMdS e S n=Y¥

Bissome. N=¥

AADASr X (2ZHh-\) = v

5% 3> Youe, S n= i)

33 :S e vy @Rz ) v 1 = (v D)

QM’E e

\‘\2*—(’2,\‘\*7_ 1) = (Wr) =

W22 r ) = (kxS

KMy DY (R S




G

4
Poowe . 236 x¥\0% . F (Bn2)=2n "

Deqlt Lekxn=\ < 4

Ay -2 =200

=7

D2t B sume. n=h Yoy Sre ndackion &

\f\t’._, a\nér\med\s D

7 5o % D £ v k LOB-2% 25"

Depd? Yo e ve e n= y\ £—

Z N0y oy (BRI MY -2 1 = 7 (ia)

AN LR -7 | = Z (ks \\L

2V (MG -2 272 (K VT

AN ST

AGE T ANTAEPICEN

2GS T0 ST IU Y

A7

e s




